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= 1.17276[MeV]
Emaz = 1.17276 — 0.66166 = 0.5111[MeV]
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137
56 Ba
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SH 12.33 y Bmaz:18.59 keV (100%)

4c 5730 y Brmaz:156.5 keV (100%)

358 150 y Bmaz:224.5 keV (100%)

908y 28.79 y Brmaz:546 keV (100%)*

361 3.01 x 10% y | Brnae:708.6 keV (96.2%)
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55Fe 2.73y X:5.89 keV (8.5%), 5.90 keV (16.9%)
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1525y 13.537 y v: 122 keV (28.6%), 964 keV (14.6%), 1408 keV (21%),,,
207B4 31.55 y v: 570 keV (97.7%), 1064 keV (74.5%)
241 Am+Be 4322y n: < 4.16 MeV from ?Be(a,n) reaction

252¢Cf 2.645 y n: 2.13 MeV Maxwellian from (n,f) reaction

*000 Y Brmaw:2.28 MeV (100%) 00000
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58Ni(n,2n)°"Ni 36 h 13 1377.63
Cobalt % Co(n,a)?Mn 2.58 h 5.2 846.75
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209Bi(n,8n)?0?Bi 1.67 h 53.98 422.2, 657.5, 960.7
209Bi(n,9n)?01 Bi 1.77h 61.73 629.1
209Bi(n,10n)2°Bi  36.4 min 70.79 462.4, 1026.5
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